MC Run

Proton, 0.2 GeV, ¢ = 2700, 0= 700

()
III|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

— root, #entry=5.8e3

— ascii, #entry=3.5e2

_5956|||||||||||||||||H(/guu|||||||||||||||||||||||||

-40 -30 20 -10 O 10 20 30 40 50

x(cm)

Proton, 0.2 GeV, ¢ = 2700, 0= 700

— root, #entry=5.8e3

— ascii, #entry=3.5e2




TpcDetector: :SetSpecialPhysicsCuts() Working on medium TPCmixture

media_pnd.geo

TPCmixture 3 20.1797 12.0107 15.9994 10. 6. 8. 0.0009222269 0.8049456004 0.0532325947 0.1418218049
11 20. 0.001

99. 0.5 0.0001 0.00001
0

density

fairoot media file example link

air 3 1401 16. 3995. 7. 9.  18. ;‘2059' 755 231 014
0 1 3. .001
0

corresponds

to:

name ncomp aw(1l) aw(2) aw(3) an(1) an(2) an(3) dens wm(1) wm(2) wm(3)
sensflag fidflag fid epsil
npckov



http://fairroot.gsi.de/?q=node/34

“TPCmixture” density =

Proton, 0.2 GeV, ¢ = 2700, 0= 700

— root, #entry=7.2e3

— ascii, #entry=3.6e3

108 == O

Proton, 0.2 GeV, ¢ = 2700, 0 = 700

-40 -30 -20 -10 O 10 20 30 40

x(cm)

— root, #entry=7.2e3

— ascii, #entry=3.6e3

-20 0 20 40 60 80
z(cm)




